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The fcllowing ciscussion getails how data 1s recresentec :nterrally dy Hisert Pascal <.
The infermation on the amount of storage required in each case should be ofF use 2 ~-.-
programmers (the SIIE function may be used see Section I.2.0.7) cther details may De neeac: it
! those attempting tc merge Pascal and machune csce programs.
1.1 Integers,

: Integers cccupy 2 bytes of storaga each, 1n 2's complement form.

Examples:
: 1 b ‘£0001 :
. 256 = £0100
& -256 = £FF00 , U

The stancard 180 register used by the compiler o hold integers is gL

!

A 2.1.2 Charaztore, Dasloang and nther T-3%3rg,

These occupy | byte of storage each, in sure, unsighed Dinary,

Characters: S bit, extenced ASCII is used.
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Becleans:
: CEO(TRTUD) =1 s0.TRUZ s represented dy 1.
’ CROGFALSZI*C so FALIZ is regrasents by X,
E« [ The stancard 130 register used by the compiler for the ancve 1s A.
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4 2.1.2 Bajzls,

The (mantissa, exccnent) form 1s used similar <8 SRat US2d 10 §Tans 0 Soaniil SCTAlion - :&(x
Using Sindry insteac or denary. Exarciest

. \
2= 2810 or x.a,_oz

12 1010° or 1.0, ¢ 2°.

47 -

' v
T T WP Ty g Y T oy s 3= 08 £ g oy

G P Y TR ey e

ey




